. VCE & PDF https://www.pass4itsure.com/c2090-616.html
g 2024 Latest passditsure C2090-616 PDF and VCE dumps Download

PassditSure.com

C2090-616954S

DB2 11.1 Fundamentals for LUW

Pass IBM C2090-616 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/c2090-616.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest C2090-616 Dumps | C2090-616 Practice Test | C2090-616 Study Guide 1/3


https://www.pass4itsure.com/c2090-616.html
https://www.pass4itsure.com/c2090-616.html
https://www.pass4itsure.com/c2090-616.html

VCE & PDF https://www.pass4itsure.com/c2090-616.html|
a 2024 Latest passditsure C2090-616 PDF and VCE dumps Download

— PassditSure.com

QUESTION 1

Which of the following SQL statements will remove all rows from the table T1? (Choose two.)
A. DELETE FROM t1

B. DELETE* FROM t1

C. DELETE* TABLE t1

D. TRUNCATE TABLE t1 IMMEDIATE

E. TRUNCATE TABLE t1

Correct Answer: AB

QUESTION 2

Which locking event occurs when two applications lock rows that are needed by the other, such that neither application
can continue executing?

A. Deadlock

B. Lock timeout

C. Lock escalation
D. Lock conversion

Correct Answer: A

QUESTION 3

With HADR, which of the following configuration and topology choices provides the highest level of protection from
potential loss of data in a pureScale environment?

A. Principal standby with SYNC synchronization mode

B. Auxiliary standby with SYNC synchronization mode

C. Principal standby with NEARSYNC synchronization mode

D. Auxiliary standby with SUPERSYNC synchronization mode

Correct Answer: A

Standby databases are synchronized with the primary database through log data that is generated on the primary and

shipped to the standbys. The standbys constantly roll forward through the logs. You can choose from four different
synchronization modes. In order of most to least protection, these are SYNC, NEARSYNC, ASYNC, and
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SUPERASYNC.

QUESTION 4

The application owners say they need to be able to query a table and previous versions of that table. Which type of

table is appropriate to satisfy this requirement?
A. Shadow Table

B. Temporal Table

C. Range-Partitioned Table

D. Multidimensional Clustered Table

Correct Answer: B

QUESTION 5

Which optional NPS compatibility features will be activated by executing the following? (Choose two.) SET

SQL_COMPAT="NPS\\

A. YEARSBETWEEN

B. BINARY and VARBINARY data types

C. Double-dot notation to specify a database object

D. OFFSET x ROWS FETCH FIRST y ROWS ONLY

E. TRANSLATE (char-string-exp, from-string-exp, to-string-exp)

Correct Answer: CE
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